INSTALLATION INSTRUCTIONS
(SHEET 1)

4X M4 X 12MM LONG SCREWS

4X SCREWS

ASSEMBLY STEPS:

2. PLACE SCANNER PLATE BETWEEN HEAD UNIT
AND PEDESTAL; MAKING SURE HOLES IN
SCANNER PLATE ARE ALIGNED WITH HOLES IN
HEAD UNIT AND PEDESTAL.

3. RE-ATTACH HEAD UNIT TO PEDESTAL WITH
4X M4 X 12MM LONG SCREWS PROVIDED
WITH SCANNER PLATE.

ASSEMBLY STEPS:
1. REMOVE 4X SCREWS TO DISCONNECT
SC-1000 HEAD UNIT FROM PEDESTAL.

' REVISIONS

DWG. NO. REV. TITLE

SC-1000-ACC-14 B SELF-CHECKOUT ACCESSORY, REV DESCRIPTION DATE

BY

CHK'D

DRAWN DATE UNIVERSAL HANDHELD SCANNER MOUNT, B 11/20/2023

e °C-1900 CUSTOMER INSTRUCTION
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF HAVIS, INC. AND REPRODUCTION IN PART OR IN WHOLE WITHOUT THE WRITTEN PERMISSION OF HAVIS, INC. IS PROHIBITED.
2 1

8 7 6 5 4 3

SY




INSTALLATION INSTRUCTIONS
(SHEET 2)

SCANNER HOLSTER

4X M3 X 4AMM LONG SCREWS
4X M3 X 4AMM LONG SCREWS

BASE ADAPTER
(INCLUDED WITH DATALOGIC GRYPHON
WIRELESS SCANNER BASE)

ASSEMBLY STEPS:
4A. ATTACH SCANNER HOLSTER TO SCANNER ASSEMBLY STEPS:
PLATE WITH 4X M3 X 4AMM LONG SCREWS. 4B. ATTACH BASE ADAPTER TO SCANNER
PLATE WITH 4X M3 X 4AMM LONG SCREWS.
DWG. NO. REV. TITLE
SC-1000-ACC-14 B SELF-CHECKOUT ACCESSORY,
DRAWN DATE UNIVERSAL HANDHELD SCANNER MOUNT,

°C-1900 CUSTOMER INSTRUCTIONS
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF HAVIS, INC. AND REPRODUCTION IN PART OR IN WHOLE WITHOUT THE WRITTEN PERMISSION OF HAVIS, INC. IS PROHIBITED.
2 1

8 7 6 5 4 3



	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Drawing View4


